0002052817497999

‘o0 EREX® O0—e—

2015 # T - FREEEL 55 1 [

ko[ ]250&.

-Tx -5
(D) 2443823 +522+22+1% (z+1)(z+2) THIo L XORVERDBL [ | Thd. 72, § =

Ta® — 5a%b — 3ab? + 9% s oy i 5
DEE b Gatby  HEERDIL | ThE. x= =5
(2) A 3T + 67 = 3712 + 9 X 2° DRI ThY), dr+9oss@ D =snffix [ | TH.
(3) EE10fJED 3D IEMEFEAT 3MELMES. E10MEL | WAEG2EET23 MK [ | @Y dH
3. %7, EI0ARLI2ALAVSARE [ | iB)bHa. 60

x=2 >0
(1) P)= a%+3x3+523+2x +1 <
P(x)= (x+1)(x+2)Q(x) +ax+b ¢T3 &,

P(-1)= =a+b=2---® , P(-2)=~2a+b=9 @

O-@ &y, a= -7, b= -5 %‘l)l;- _7x..5‘ )

b b 7
%’? .o w =7
(éi’&)mﬁ LA a’ e B,

b

A “'x T ()"'q(u) 5

s ‘A 2
(':';‘EU- —E( . b ) 2 i

@ (3 4(2%9) -7 =92 0

AR PR 3g )0 iz o &Y, F 950 =2 4
= X
4‘1"’3%3@{“”“57-0 v 4y +(X=1)~-F=0
S 42U ~4=0 c:TBIEKAEY x>0 - x=~1t{5

@) (it BRIt il Yoo o F oY 108
Ly TaE 0 FECH N GEY o 10X 6 = 60iR)Y

%

27 % ERBTIE0E. 10,8

nyEFLznted, oC3-60-10 = 50:8Y

4




